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(D) (C) (B) (A) QUESTIONS Q-1
(x +7) and (x-7) and (x+7)and (x - 7) and -t J}Qﬂ»..{»&xz -15x+ 56| 1
(x+ 8) (x +8) (x-8) (x-8) Two linear factors of x - 15x + 56 are
J"tﬁf’ &?A; J?:/_Lgt (}?f.(l,{ _L,L?L)%J£4X2-4X+ 1=0=bl-| 2
Irrational Imaginary | Real, Unequal | Real , Equal |Roots of the equation 4x? - 4x + 1 = 0 are
3 1 1 0 -%J;(M;@LJK’ 3
The product of cube roots of unity is
e f;d/» HJJ.': JLJ _qz.tlkfy Sxiyerd| 4
Ratio Consequent | Antecedent Relation In a.ratio x : y , y is called
X v w xy Wb X ynviw| 6
vy X v The fourth proportionalwof x :y::v:w is
LLluEd | v Uitn il | eemtlgallx x4 =250 + 40c+ 60V | 6
Three values of x| All values of x | Two values of x | One value of Thﬁeﬁ'ty (5x + 4) = 25x% + 40x + 16 is true for
{¢} {9.(a)} () é g ~etrdrnlferde| 7
Power set of an empty set is
22 28 28 23 .f..L-!ﬁilA;JMJJJE':ZAXBFﬁZufB-‘frﬂﬁJh;Jc)ﬂlJﬁ..‘.{;' 8
If number of elements in set Ais 3 and in setB
is 2, then number of binary relations in AxB is
Wy P % S Sussdtenres| o
Circle Closed figure Square Rectangle |A frequency polygone is a many sided.
J3 2 1 l 1 10
—Y — cosec 45° =
2 & 242 2
v M1 “‘ ' cos 0<0;tan 0<0 -t B 6 o5 11
In which quadrant @ lieswhencos @ <0;tan 8 <0
bl A (51 B b et Wi si e S5L o | 12
Perimeter |Radial Segment| Diameter |Circumference Line segment joining any point of the circle to
the centre is called.
Secantéc_ 7 | Sine ¥ /b | Cosinefcsi> | Tangent¥e i | L un S nd L e ML 3L 13
Secant of a Sine of a Cosineofa | Tangent of a | A line which has two points in common with
circle circle circle circle a circle is called
Uy & o Fs -t 2l UKL JJbusl ke Ll 14
60° 75° 45° 30° The length of a chord and the & ...... 41§77
radial segment of a circle are congruent, the
central angle, made by chord will be
L 2 & L The measure < (it §esliBsz L uarki| 15
8 6 4 3 of the external angle of a regular hexagon is
1019 -- 1019 -- 58000 (1)
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Answer briefly any SIX parts from the followings:- 6x2=12
Solve x*-x-20=0
Define radical equation.
Find the nature of the roots of quadratic equation
3+ 7x-13=0
Evaluate @ +@" =5

Write the quadratic equation having roots 3 + wﬁ 53 -2
Prove that the sum of all cube roots of unity is zero.i.e.

l+w+a? =0

Find mean proportional between 20 x3y5 . 5x?y .

Find x in proportion 3x-2:4 : 2x+3:7

Define ratio and give one example.

Answer briefly any SIX parts from the followings:- 6x2=12
2

Cox +1
Resolve the fraction
x+1

into proper fraction.

Define set.
If A={1,2,3} B={2,5} then find 4% B anq Bx4

If U={1,2,3,....,10} A={2,3,5,7) B={3,5,8} Find 4" and B’.

Findaandb,if (a-4,b-2)=(2,1)
Define Mode.
The marks of seven students in Mathematics are

45, 60, 74, 58, 65, 63, 49. Calculate the Arithmatic mean.

Find Harmonic mean forthe data | X |12| 5|8 | 4

Define variance.

1020 - 1019 - 58000
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LI Pl g e Bss 2
-x-20=0 /S (i)
S (i)
LIPS S L atsr G s iz (i)
3%° + 7x - 15 =0
Y Gl & _L{/r,hf&é' (iv)
s 3442 ,3-42 )
Fetnprard ¥ Mg UL S SEE = (vi)
l+w+@* =0
20°%°, 5x'y PP e b (vil)
g ped § x it o6 2ne (vili)
Ix-2:4:2x+3:7
“EaJedin gyl (%)
Yl L g Y Lits 3
LW s ZEL 0

X

E Sl (i)

& BxA  AXB ja=(1,2,3)B=(2,5}./1 (iii)

JU=(1,2,3,....,10} A={2,3,5,7} B={3,5,8}./1 (iv)

S B A
(@a-4,b-2)=(2,1) S baa (v)
-/l vi)
idnl Pe st Gl iPat (i)

&5 Ll QLo 45, 60, 74, 58, 65, 63, 49

Sl ETAL L | X [12] 5] 8 | 4 |str (viii)

_-"i:h-e’/‘?Jac,c‘." (ix)
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Answer briefly any SIX parts from the followings:- 6x2=12 . [/zfeA2FL121 § « M L dits -4

137
Convert —I-é— into degree.

Verify that, cotd secf = cosect

Define obtuse angle.

Define circumference of a circle when R is the radius of

circle. What is its circumference.
Define Tangent of a circle.

What is meant by segment of circle.
Define diameter of circle.

Define radius of circle.

Construct a Triangle whose sides are 3cm, 4cm and 5cm.

Part I

s 22 0

cotd secd = cosectd SEE = (i)
EE G i)
bt U IR sl pe b2 Lc 25 (iv)

Zafduvlen )
gl s b8 (Vi)
EEISEL e o (vil)

-2 S (viii)
IR IUEU S LU L e beds (i)
(2 o

- A8 LIy pe Y9 Ay S fe i L ey fe (s

Note: Attempt any three question. Q.9 is compuisory Each Question carries 08 marks

Solve the equation 4x=+13x+14 -3

Prove that

X+ 42 3xyz=(x+y+2)(x+ 0y+P2)(x+ o’y + @z)
a c e

" E = E - 7 (ﬂ',b,c, d,e,f # 0) then

b
ac+ce+ea _[ace]

show that m = E

1
Resolve into partial fractions x +i)(x2 +1)

If U={1,2,3,4,5,6,7,8,9,10} A={1,3,5,7,9} B={1,4,7,10}
C=(1,5,8,10} Prove that (4 B)LC =AU (BLC)
Find standard Deviation 'S' 12,6,7,3,15,10,18,5 |
Verify that Jm = 86 ‘

l—-cos@ 1-cosé

Circumscribe a circle about an equilateral triangle

ABC with each side of length 4cm.

Perpendicular from the centre of a circle on a chord

bisects it. OR

The measure of a central angle of a minor arc of a

circle, is double that of the angle subtended by the
corresponding major arc.

AL Ax=13x 414 -3 i O.s

X+ +2 3xyz=(x+y+ )+ oy + )X+ y+ 02)

ey (@bedef#0) ~§~=~j—,=—}ﬁ 0.6
ac+ce+ea . a_ce %I
bd+df + fb | bdf

!
)-q/uk-'{; U6z ()

G+ +1)
U={1.2,34,56,7,89,10} A=1,35.7,9} B={1,47,10} /i O)-7
(AUB)UC = AU(BUC) 2 o C={1,5,8,10}

12,6,7,3,15,10,18,5 - & (#'S' S e ()

1 +cosé sin@ SRe)
= e .8
Vi-cosé® 1-cos@ __éu_’,w

SE LN B2 bt e K ABCEL Lo St (o)
_x(i-ujl_)
_d‘:_t‘f._if"”JLﬂu:“{}JLf::.},rfﬁa.ﬂJ -9
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Note:- You have four choices for each objective type question as A, B, C and D. The choice which you think is correct;
fill that circle in front of that question number. Use marker or pen to fill the circles. Cutting or filling two or more circles
will result in zero mark in that question. Write PAPER CODE, which is printed on this question paper, on the both
sides of the Answer Sheet and fill bubbles accordingly, otherwise the student will be responsible for the situation.
Use of ink remover or white correcting fluid is not allowed.

(D) (C) (B) (A) QUESTIONS Q-1
y . R e by IS pK el | 1
- 90° 180 270 360 ST _
The semi-circumference and the diameter of
a circle both subtend a central angle of
f?g.;l, L =y ) P & b elenl Uriunsl JILi7 o e i L | 2
Sector Segment Chord Diameter | The portion of circle between two radil and an arc is called.
4 3 2 1 The number 2_-)2& L/J’f:-lsl/lﬁ»u 3
of methods to solve a quadratic equation is
-b?-4ac -b? + 4ac b® + 4ac 0 ::J{j%'_q_tmif&)Kaxzd-bx+c=0.:.«lsl/ 4
e disariminant of ax? + bx + ¢ = 0 is
] ;1 l,-o 1, @ Two square roots of unity are  Jt G A /de L donls
2
!J:\:zk uxwzk u=vk If£=-v—=k.then ;'li:i:kﬁ 6
YW vV w
x xXyv w xy Wb BZUax Iy nviwg 7
vy X v The fourth proportional w of x 1y 2 v : W is
LLuESL U U Uit ot el x(ox+ 4 =250 + 40x+ 1650 | 8
Three values of x| All values of x | Two values of x | One value of x| The identity (5x + 4)? = 25x° + 40x + 16 is true for
erdb T Ll er i e biA G| 9
Empty set Set Power set Subset A collection of well defined objects is called
o ot w.*.’(:f? L5t F -q:—l‘ﬁ:f {x|xeW Ax<101} | 10
Finite set Null set Subset Infinite set | The set {x|xeW Ax<101} js
; ’ 5 > BRI P AV P S I
il v w1l W St ad G2 ¢ S bl Qo
Ly Sufe AL uze e
" Numrator Denominator Group Number | Arithmetic mean is a measure that determines
the value of the variable under study by dividing
the sum of all the values of the variable by their
2sec’ @ sec’ @ 2c0s’ @ cos® B e Lo o 12
I+sind 1-siné
tand 0 1 = cosec’d —cot’ @ = 13
0] 1 A Z e etk L U e 14
The symbol for a triangle is denoted by
uf*"gf’,;,.&'iio/ {,L'B'\..g 4560 {LE:;-E _g.i}{ S sbywis Li} 15
No point at all | Single point Two points | Three points |A tangent line interset the circle at
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Answer briefly any SIX parts from the followings:-

Define Quadratic Equation & Give example.

Solve by factorization 5x* = 15x

Find the discriminant of quadratic equation 6x? - 8x + 3=0

Evaluate (1-30-30")’
Without solving, find the sum and product of the roots of

quadratic equation 7x% -5mx +9n =0
Use synthetic division to find quotient and the remainder

when (2 +7x=D)+(x+1)

Define Ratio.
If 3(4x - 5y) = 2x - 7y then find the ratio x . y.

Find the mean proportional between 20 and 45.

Answer briefly any SIX parts from the followings:-

Define identity and write one example,
fA={1,2,3}, B={2,5} Find 4xB

Find'a'and'b'if(3-2a,b-1)=(a-7,2b+5)

o
P

Define onto function.

Find the set 'X' and 'Y' if X xY ={(a,a),(b,a),(c,a),(d,a)}

Define Median.

Find Geometric Mean of the observations 2,4,8 by using
logarithmic formula.

Write any two Properties of Arithmetic Mean.

Find Harmonic Mean of the given data.

X 12 5 8 4

ox2=12 -z fel2 ALz § M tditn 2
_q:dl‘#»';{/u—?‘/ﬂ(ahvduu (i)

5% = 15x S SSH 25 (i)

6x2-8x+3=0 PO eble B

(1=30-30") .y /piei

_gf/rr'}”.,./il)"b»u:f Kujuﬁ bl X gd’

7x% - 5mx + 9n =0

St s A S n SIS

| G2+ Tx-1)+(x+1)

(iii)
(iv)
(v)

(vi)
Sl (vil)
ZE e x:yesd 7 3(ax-By) = 2x- 7y i (viii)
-q)’pb'.,.awz}muy».{.‘tsmzo (ix)

ox2=12 - gSofez ALz g e Sle Lditn 3
T I Ay S Vs

b AxB e B={2,5} ,A={1,2,3}]

(i)
(ii)
& oped b aain(3-2a,b-1)=(@-7, 20+ 5/

PSS T
XxY={(a,a),(b,a),(c,a),(d, @} fip by X

(iii)
(iv)
(v)

S P e (vi)
e S A i L2481 (vii)

2 oy 5 G S bt o (i)
S LTAL Lol inzs (ix)
X |12 5|84
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Answer briefly any SIX parts from the followings:- 6x2=12

Define angle of elevation.

137
Convert 16 to degrees.

Define obtuse angie.

Differentiate between the sector and segment of a circle.
What are you meant by secant of a circle?

Define segment of a circle.

Define In-centre of a triangle.

What are you meant by polygon?

Define geometry.

Part 11 (2

AN PLNR g Y L Sitn -4
el (i)
137
Edeesh T )
Ay AT ()
G OPt AL 5 (iv)
e sy e BECL oI (v)
-y S (i)
“E PSSl L ds (i)
Sese Ve Lsu? (viii)
-ZE s (ix)
~~

-2 A8 L s e 688 Ay S fein L ety e §Fnd

Note: Attempt any three question. Q.9 is compulsory Each Question carries 08 marks

Solve the given equation. 3x”+ 5 = 8x™

32+ 5=8x" .k Fablednis O-5

Solve by using synthetic division, if 2 is the root of w2 B X -28x+ 48 =0 =hl-"2 10 gd’(ﬁ&(}.;ui_ )

the equation x® - 28x + 48 = 0

Find the Fourth proportional to p’+q’,p*-q°, p*-pq+q° et Bz 06
p’+q’, p*-q°, p*-pq+q’

3x+7 3x+7
Resolve into Partial fraction. (x+3)(x2 +4) (x+3)(x2 +4) _qu}'.f‘_,d/d;z (..,4)
If L={a,b,c} , M={d,e,f,g} then find two binary relations J:_vluzji;uc_ Jf.’.’. LxM yM={d e, f.g} L={a,b,c}/f 0-7
in LxM el

Find standard deviation "S" from given data
12,6, 7, 3,15, 10, 18,5

Prove that cos®@—sin® @ =cos® §—sin?@

s S iy 25 (L)
12,6,7,3,15,10, 18,5
cos’@-sin @ =cos’§~-sin’ @ Sz =t ()-8

Draw two common tangents to two touching circles TPl Ut (354 25UmL Uihinl S m (L)

of radii 2.5 cm and 3.5 cm.

Prove that perpendicular from the centre of a circle

on a chord bisects it.  =eresss QR vereivnees

-%‘{JV
-& tf_j;‘"'Jqur‘{ 7 U’(c.. /g-'é ey 9

............ -

Prove that the opposite angles of any quadrilateral Y, L P d}“.‘.‘(‘{._:l).h‘&éu’;; Esrts S s J(

1 022-1 019- 50000

inscribed in a circle are supplementary.



